20227 B m = LA BARKR(2019)5 & B AR % R

1.

BEE A M={xx>-2}, W F %1 3% T 1E 7 i 2

A. {0}EM B. PEM C.{0} =M D. 0 SM

2.

1+i

SaEH T, K oAamgeas, nkl-

Nz
2

B. C.J2 D.2

oo | —

A.

3.
EamEiga=02, b=(x-2, Hz15, Ma+til=

A. S B. 5 C. 42 D. /31

4.

w0 R — 4 IS RIS 3 R AR B 5 W SR BT A - U M B, %IE 3 RAEIX S8 SR A8 5
A BOR12, MIZBEShRIX S R 2P BN AT ek

68 63 71
A. 5 B 5 C. 14 D: 5
o 5. -
1l ) \S
2|3 (hEEHEZ) SRERILEAN N —SEEREEE, BHPREPONEAT

F2HP), ARGRE=ZALFRNNEFERER, BHEXHE—IH
B, KEAN: RLTETHM, F—RUA—RAWR, WHESRENPHEEMR, DmE—
REMSR, —MNA GE30RTTE) BILLAMIOR, HEFRMIMMEENZDR? ZEBHE
E )

8 16 32 1
A. 23 R B. mR C. mR D. 2R

6.

— RN =B WA B R, WERERRN

Kl
2

1 1
A. 2 B. C. 1 D. 3



